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QUESTION 1

You have recently purchased a new wireless router. You would like to configure a name for your wireless network so
that you can easily identify it when scanning available wireless networks.

Which term describes this wireless network device name?
A. Default gateway

B. Wireless access point (AP)

C. Access Point Identifier (API)

D. Service Set Identifier (SSID)

Correct Answer: D

QUESTION 2

When using cloud-based services to host company data, a company\\'s disaster recovery plan should include strategies
for:

A. Creating redundancy and ensuring there is an exclusive contract with the cloud service provider.
B. Distributing data and software services across multiple cloud service providers.

C. Creating redundancy and using multiple cloud service providers.

D. Using a single well-established cloud service provider.

Correct Answer: C

QUESTION 3

Virtualization software transforms the hardware resources of a physical computer to create a fully functional virtual
computer that can run its own operating systems and applications. In addition to the CPU and RAM, which hardware
resources are used by virtualization software?

A. Hard disk and USB devices

B. Hard disk and network devices

C. Virtual hard disk and network devices

D. Network devices and secondary storage devices

Correct Answer: B

QUESTION 4
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Acme Corp. is a small manufacturing company. To reduce IT infrastructure costs, it uses cloud- based services
extensively and strives to have the least amount of IT equipment onsite. Last year, Acme suffered a failure that resulted
in significant down time and data loss. Management has decided to implement a continuous data protection (CDP)
solution. Which type of CDP solution best fits Acme\\'s situation?

A. Cloud-only solution

B. Local systems solution

C. Distributed network services provider

D. Contracted network services provider

Correct Answer: A

QUESTION 5

Which of the following statement about virtualization is true?

A. Virtualization enables multiple physical computers to run off of a single virtualized server.

B. In virtualization, you run multiple virtual machines, provided they all use the same operating system.

C. In virtualization, the operating systems of the virtual machines should match the host operating system.
D. Virtualization enables you to run multiple operating systems and applications on a single computer.

Correct Answer: D
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